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Final Exam «+ X

Posted Dec 4, 2023 10:29 AM

The Final Exam will be on @'Deéembe‘rﬂfrom 10:30am-12:30pm. We will all
be in Loeb Playhouse (STEW 183). When you enter the lobby of Loeb, you will need
to pickup a lapboard for taking the exam. You will be on either the main floor or the
balcony, depending on your instructor.

Main Floor: Victor Hughes, Jakayla Robbins, Alexandra Cuadra
Balcony: Ben Doyle, Dave Norris

There are no old published finals available, but there is plenty of practice in LON-
CAPA. The material on the final exam is evenly distributed among the topics covered
this semester. There is an Exam Memo posted in Contents. On the second page of
the exam memo is the formula sheet that you will be given on the exam (it will be
attached at the back of the exam).

Attachment(s):

B FinalExamMemo.pdf (49.88 KB)

B 16020 final-f23_merged.pdf (286.66 KB)




Formula Sheet - MA 16020 Final Exam

Geometric Series:

The geometric series E ar™ with common ratio r converges if |r| < 1 with the sum
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Second Derivative Test
Given the critical point (a, b), such that f, (a,b) =0 and f, (a,b) = 0, and let

D (a,b) = fez (a,8) fu (a,5) = [foy (a, D))
e If D> 0and f,,(a,b) >0 then f(a,b) is a relative minimum.
e If D > 0 and f,, (a,b) <0, then f (a,b) is a relative maximum.

e If D < (), then f(a,b) is a saddle point.
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Find the volume of the solid obtained by revolving the region enclosed by the curves

about the x-axis.
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Find the volume of the solid obtained by revolving the region enclosed by the curves

y=8e,y=0andz =10
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Which of the following could represent a partial fraction decomposition of the given function?
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Please note that you only have two answer attempts.
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Find the partial fraction decomposition of the following expression. (Do NOT evaluate as an integral).
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